Khan's Grill, 1346 W University Dr Edinburg, TX 78539, Pulled: 03/14/2025 10:14:29 Settings: Date Range: 03/14/2025 - 03/14/2025 Omit No Hours Employee: All Employees Jobs: Default Job Code OC - General Manager OC - Server OC - Host OC - Cook OC - Kitchen Manager OC - Floor Manager OC - Utility OC - Dishwasher OC - Busser OC - Bartender OC - Cashier Waitstaff Manager Data for: 02/10/2025 05:00:00 to 03/10/2025 04:59:59

adama luan	025 05:00:00 to 03/10/2025	5 04:59:59	
adame, Juan	D D		Tet
Job Title Default Job Code	Pay R: \$0.		Tot \$0.0
Default Job Code - OT	\$0.		\$0.0
		tal 194.37	\$0.0
Sales: \$0.00	Claimed T	ips	\$0.0
Tips: \$0.00	Gratu		\$0.0
	Grand To		\$0.0
	Avg Payra	ate	\$0.0
Aguilar, Joe lob Title	Pay Rate	Hours	Tot
OC - Cook		145.82	\$1,531.0
OC - Cook - OT	\$15.75	5.45	\$85.8
		151.27	\$1,616.9
Sales: \$0.00	Claimed Tips		\$0.0
Tips: \$0.00	Gratuity Grand Total		\$0.0 \$1,616.9
	Avg Payrate		\$10.6
Anaya, Brianna			•
ob Title	Pay Rate	Hours	Tot
OC - Server	\$2.15	87.78	\$188.7
Salaa: \$1.126.88	Total Claim ad Tina	87.78	\$188.7
Sales: \$1,136.88 Tips: \$107.13	Claimed Tips Gratuity		\$0.0 \$0.0
1163. \$107.15	Grand Total		\$295.8
	Avg Payrate		\$3.3
Balboa, Emily			
ob Title	Pay Rate	Hours	Tot
OC - Cashier	\$10.00	14.00	\$140.0
Sales: \$5,529.90	Total Claimed Tips	14.00	\$140.0 \$0.0
Tips: \$372.35	Gratuity		\$46.2
	Grand Total		\$558.6
	Avg Payrate		\$39.9
Barradas, Keyla			
lob Title	Pay Rate	Hours	Tot
OC - Server	\$2.15	37.27	\$80.1
OC - Cashier	\$10.00	32.50	\$324.9
Sales: \$34,130.09	Total Claimed Tips	69.77	\$405.1 \$0.0
Tips: \$2,148.10	Gratuity		\$254.6
	Grand Total		\$2,807.8
	Avg Payrate		\$40.2
Chavez, Audrey			
Iob Title	Pay Rate	Hours	Tot
OC - Server	\$2.15	57.34	\$123.2
OC - Cashier	\$10.00 <b>Total</b>	50.22 107.56	\$502.2 \$625.4
Sales: \$21,204.89	Claimed Tips	107.50	\$0.0
Tips: \$1,577.54	Gratuity		\$148.5
	Grand Total		\$2,351.5
	Avg Payrate		\$21.8
davila, Mia Job Title	Day Pate	Hours	Tot
OC - Cashier	Pay Rate \$10.00	Hours 42.32	Tot \$423.2
OC - Server	\$2.15	43.18	\$92.8
	Total	85.50	\$516.0
Sales: \$16,843.51	Claimed Tips		\$0.0
Tips: \$1,261.96	Gratuity		\$122.3
	Grand Total Avg Payrate		\$1,900.3 \$22.2
de la Vina, Allison	Avgiayiate		722.2
lob Title	Pay Rate	Hours	Tot
OC - Server	\$2.15	74.44	\$160.0
	Total	74.44	\$160.0
Sales: \$1,517.40	Claimed Tips		\$0.0
			\$11.7
Tips: \$141.98	Gratuity Grand Total		
Tips: \$141.98	Grand Total		\$313.7 \$4.2
			\$313.7
Tips: \$141.98 Garcia, Baldemar Job Title	Grand Total	ate Hours	\$313.7
Garcia, Baldemar Iob Title Default Job Code	Grand Total Avg Payrate Pay Ra \$0.	.00 156.51	\$313.7 \$4.2 Tot \$0.0
Garcia, Baldemar	Grand Total Avg Payrate Pay Ri \$0 \$0	.00 156.51 .00 4.28	\$313.7 \$4.2 Tot \$0.0 \$0.0
Garcia, Baldemar Iob Title Default Job Code Default Job Code - OT	Grand Total Avg Payrate Pay R: \$0 \$0 To	.00 156.51 .00 4.28 tal 160.79	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0
Garcia, Baldemar Job Title Default Job Code Default Job Code - OT Sales: \$0.00	Grand Total Avg Payrate Pay R \$0. \$0. To To Claimed T	00 156.51 .00 4.28 tal 160.79 ips	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
Garcia, Baldemar Iob Title Default Job Code Default Job Code - OT	Grand Total Avg Payrate Pay R: \$0 \$0 To	00 156.51 00 4.28 tal 160.79 ips ity	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0
Garcia, Baldemar Job Title Default Job Code Default Job Code - OT Sales: \$0.00	Grand Total Avg Payrate Pay R: \$0 \$0 Claimed T Gratu	00 156.51 00 4.28 tal 160.79 ips ity tal	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0
Garcia, Baldemar Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey	Grand Total Avg Payrate Pay R: \$0 \$0 Claimed T Gratu Grand To Avg Payra	00 156.51 00 4.28 tal 160.79 ips ity tal ate	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Iob Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey Iob Title	Grand Total Avg Payrate Pay Ri \$0. \$0 To Claimed T Gratu Grand To Avg Payra Pay Rate	00 156.51 00 4.28 tal 160.79 ips ity tal ate Hours	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey	Grand Total Avg Payrate Pay R: \$0 \$0 \$0 To Claimed T Gratu Grand To Avg Payra Pay Rate \$5.00	00 156.51 00 4.28 tal 160.79 ips ity tal ate Hours 80.43	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Iob Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey Iob Title Waitstaff Manager	Grand Total Avg Payrate Pay Ri \$0 \$0 \$0 Claimed T Gratu Grand To Avg Payra Pay Rate \$5.00 Total	00 156.51 00 4.28 tal 160.79 ips ity tal ate Hours	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Iob Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey Iob Title	Grand Total Avg Payrate Pay R: \$0 \$0 \$0 To Claimed T Gratu Grand To Avg Payra Pay Rate \$5.00	00 156.51 00 4.28 tal 160.79 ips ity tal ate Hours 80.43	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey Job Title Waitstaff Manager Sales: \$943.96	Grand Total Avg Payrate Pay Ri \$0 \$0 \$0 To Claimed T Gratu Grand To Avg Payra Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total	00 156.51 00 4.28 tal 160.79 ips ity tal ate Hours 80.43	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey Job Title Waitstaff Manager Sales: \$943.96	Grand Total Avg Payrate Pay R: \$0. 50. To Claimed T Gratu Grand To Avg Payrate \$5.00 Total Claimed Tips Gratuity	00 156.51 00 4.28 tal 160.79 ips ity tal ate Hours 80.43	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey Job Title Waitstaff Manager Sales: \$943.96 Tips: \$43.91 Gonzalez, Jose	Grand Total Avg Payrate Pay R \$0 \$0 To Claimed T Gratu Grand To Avg Payrate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	00 156.51 00 4.28 tal 160.79 ips ity tal ate Hours 80.43 80.43	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Iob Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey Iob Title Waitstaff Manager Sales: \$943.96 Tips: \$43.91 Gonzalez, Jose Iob Title	Grand Total Avg Payrate Pay Ri \$0. \$0. To Claimed T Gratu Grand To Avg Payra Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Ri	00 156.51 00 4.28 tal 160.79 ips ity tal ate Hours 80.43 80.43 80.43 80.43	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey Waitstaff Manager Sales: \$943.96 Tips: \$43.91 Gonzalez, Jose Job Title Default Job Code	Grand Total Avg Payrate Pay R: \$0. \$0. Total Grand To Gratu Grand To Avg Payrate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay R: \$0. S0. S0. S0. S0. S0. S0. S0. S0. S0. S	00 156.51 00 4.28 tal 160.79 ity tal ate Hours 80.43 80.43 80.43 80.43 80.43	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.
Garcia, Baldemar Job Title Default Job Code Default Job Code - OT Sales: \$0.00 Tips: \$0.00 Garcia, Chelsey Job Title Waitstaff Manager Sales: \$943.96 Tips: \$43.91 Gonzalez, Jose Job Title	Grand Total Avg Payrate Pay R \$0 \$0 To Claimed T Gratu Grand To Avg Payra Pay Rate \$5.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pay R; \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	00 156.51 00 4.28 tal 160.79 ity tal ate Hours 80.43 80.43 80.43 80.43 80.43	\$313.7 \$4.2 Tot \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.0 \$0.

Tips: \$0.00	Grand 1	Gratuity Grand Total		
Govea, Charlize	Avg Pay	rate	\$0.00	
Job Title	Pay Rate	Hours	Tota	
OC - Server	\$2.15	36.48	\$78.43	
Sales: \$0.00	Total Claimed Tips	36.48	\$78.43 \$0.00	
Tips: \$0.00	Gratuity		\$0.00	
• •	Grand Total		\$78.4	
	Avg Payrate		\$2.15	
Hernandez, Josie	Pay Rate	Hours	Tota	
OC - Cook	\$10.50	160.00	\$1,680.0	
OC - Cook - OT	\$15.75 <b>Total</b>	27.16	\$427.72	
Sales: \$0.00	Claimed Tips	187.16	\$2,107.7 \$0.0	
Tips: \$0.00	Gratuity		\$0.0	
	Grand Total Avg Payrate		\$2,107.7 \$11.2	
limenez, Yareli	Avgrayiate		Ş11.2	
ob Title	Pay Rate	Hours	Tota	
OC - Server	\$2.15	68.88	\$148.0	
Sales: \$765.58	Total Claimed Tips	68.88	\$148.09 \$0.00	
Tips: \$71.58	Gratuity		\$0.00	
	Grand Total		\$219.67	
ara Pogolio	Avg Payrate		\$3.19	
Lara, Rogelio ob Title	Pay Rate	Hours	Tota	
OC - Cook	\$10.00	160.00	\$1,600.0	
OC - Cook - OT	\$15.00 Total	39.36 199.36	\$590.3 \$2,190.3	
Sales: \$0.00	Claimed Tips	199.30	\$2,190.3 \$0.0	
Tips: \$0.00	Gratuity		\$0.00	
	Grand Total		\$2,190.33 \$10.99	
lacas Alan	Avg Payrate		\$10.5	
Lecea, Alan	Pay Rate	Hours	Tota	
OC - Cook	\$10.00	16.67	\$166.74	
Salasi \$0.00	Total Claimed Ting	16.67	\$166.74	
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00	
	Grand Total		\$166.74	
	Avg Payrate		\$10.00	
Marquez, Marbella	Day Pata	Hours	Tota	
OC - Server	Pay Rate \$2.15	Hours 78.94	Tota \$169.71	
OC - Cashier	\$10.00	20.77	\$207.70	
Sales: \$14,850.11	Total Claimed Tine	99.71	\$377.41	
Tips: \$1,081.30	Claimed Tips Gratuity		\$0.00 \$300.70	
	Grand Total		\$1,759.4	
	Avg Payrate		\$17.6	
Norales, Luis	Pay Rate	Hours	Tota	
OC - Cook	\$11.00	160.00	\$1,760.00	
OC - Cook - OT	\$16.50	49.55	\$817.51	
Sales: \$0.00	Total Claimed Tips	209.55	\$2,577.51 \$0.00	
Tips: \$0.00	Gratuity		\$0.00	
	Grand Total		\$2,577.51	
Palaciac Jacquelin	Avg Payrate		\$12.30	
Palacios, Jacquelin	Pay Rate	Hours	Tota	
OC - Cashier	\$10.00	25.82	\$258.24	
OC - Server	\$2.15	64.51	\$138.70	
Sales: \$13,729.11	Total Claimed Tips	90.34	\$396.9! \$0.00	
Tips: \$958.97	Gratuity		\$128.42	
	Grand Total		\$1,484.34	
Palacios Ionnifor	Avg Payrate		\$16.43	
Palacios, Jennifer	Pay Rate	Hours	Tota	
Waitstaff Manager	\$5.00	123.59	\$617.9	
Salas: 62 450 22	Total Claimed Ting	123.59	\$617.9	
Sales: \$3,450.22 Tips: \$295.93	Claimed Tips Gratuity		\$0.00 \$45.59	
	Grand Total		\$959.49	
	Avg Payrate		\$7.70	
Pequeno, Jaylene	Dev. Dete	Herma	Teta	
OC - Server	Pay Rate \$2.15	Hours 51.48	Tota \$110.68	
OC - Cashier	\$10.00	21.90	\$219.00	
Salar: \$12 522 00	Total Claimed Tins	73.38	\$329.68	
Sales: \$12,533.96 Tips: \$803.96	Claimed Tips Gratuity		\$0.00 \$129.98	
	Grand Total		\$1,263.62	
	Avg Payrate		\$17.2	
Ramirez, Issai				
OC - Cook	Pay Rate \$10.50	Hours 80.67	Tota \$847.01	
UC - CUUK	510.50 Total	80.67 80.67	\$847.01	
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00	

	Avg Payrate		\$10.50
Ramirez, Marissa	Dav. Dat		Tatal
Job Title Waitstaff Manager	Pay Rat \$5.0		Total \$338.07
-	Tota	d 67.61	\$338.07
Sales: \$124.52 Tips: \$11.59	Claimed Tip Gratuit		\$0.00 \$0.00
11ps. \$11.55	Grand Tota		\$349.66
	Avg Payrat	e	\$5.17
Ramirez, Moses			
Job Title OC - Cook	Pay Rate \$10.50	Hours 147.64	Total \$1,550.17
OC - Cook - OT	\$15.75	4.03	\$63.44
	Total	151.66	\$1,613.61
Sales: \$0.00 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$1,613.61
	Avg Payrate		\$10.64
Reyes, Uriel	Dev. Dete		Tatal
Job Title OC - Cook	Pay Rate \$10.00	Hours 160.00	Total \$1,600.00
OC - Cook - OT	\$15.00	40.64	\$609.62
Sales: \$0.00	Total Claimed Tips	200.64	\$2,209.62 \$0.00
Tips: \$0.00	Gratuity		\$0.00
	Grand Total		\$2,209.62
	Avg Payrate		\$11.01
Rios, Anahi Job Title	Pay Rate	Hours	Total
OC - Server	\$2.15	13.78	\$29.63
OC - Cashier	\$10.00	54.21	\$542.15
Sales: \$24,909.90	Total Claimed Tips	68.00	\$571.78 \$0.00
Tips: \$1,746.84	Gratuity		\$189.64
	Grand Total		\$2,508.26
Redriguez Cimen	Avg Payrate		\$36.89
Rodriguez, Simon	Pay F	ate Hours	Total
Default Job Code		0.00 45.89	\$0.00
Colory CO 00		otal 45.89	\$0.00
Sales: \$0.00 Tips: \$0.00	Claimed Grat		\$0.00 \$0.00
	Grand T	otal	\$0.00
	Avg Pay	rate	\$0.00
Serrano, Chloe			
Job Title OC - Server	Pay Rate \$2.15	Hours 23.62	Total \$50.78
OC - Cashier	\$10.00	8.93	\$89.34
Sales: \$4,209.59	Total Claimed Tips	32.55	\$140.12 \$0.00
Tips: \$335.57	Gratuity		\$30.30
	Grand Total		\$505.99
	Avg Payrate		\$15.54
Solis, Gianna Job Title	Pay Rate	Hours	Total
OC - Server	\$2.15	18.35	\$39.45
c 1 417 co	Total	18.35	\$39.45
Sales: \$17.83 Tips: \$0.00	Claimed Tips Gratuity		\$0.00 \$0.00
	Grand Total		\$39.45
-	Avg Payrate		\$2.15
Suarez, Alexey	Dev. Dete		Tatal
Job Title OC - Cook	Pay Rate \$10.00	Hours 160.00	Total \$1.600.00
OC - Cook - OT	\$15.00	46.64	\$699.57
Sales: \$0.00	Total Claimed Tins	206.64	\$2,299.57 \$0.00
Tips: \$0.00	Claimed Tips Gratuity		\$0.00
•	Grand Total		\$2,299.57
	Avg Payrate		\$11.13
Villanueva, Julio Job Title	Pay Rate	Hours	Total
OC - Cook	\$10.50	93.70	\$983.81
	Total	93.70	\$983.81
Sales: \$0.00 Tips: \$0.00	Claimed Tips		\$0.00 \$0.00
1103. 00.00	Gratuity		
	Gratuity Grand Total		\$983.81
			\$983.81 \$10.50
Vite, Luis	Grand Total Avg Payrate		\$10.50
Job Title	Grand Total Avg Payrate Pay Rate	Hours 25.69	\$10.50 Total
J <b>ob Title</b> OC - Cook	Grand Total Avg Payrate Pay Rate \$10.00 Total	Hours 25.69 <b>25.69</b>	\$10.50 Total \$256.86 \$256.86
Job Títle OC - Cook Sales: \$0.00	Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips	25.69	\$10.50 Total \$256.86 \$256.86 \$0.00
J <b>ob Title</b> OC - Cook	Grand Total Avg Payrate Pay Rate \$10.00 Total	25.69	\$10.50 Total \$256.86 \$256.86 \$0.00 \$0.00
Job Títle OC - Cook Sales: \$0.00	Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips Gratuity	25.69	\$10.50 Total \$256.86 \$256.86 \$0.00
Job Títle OC - Cook Sales: \$0.00 Tips: \$0.00 Zavala, Francisco	Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total	25.69	\$10.50 Total \$256.86 \$256.86 \$0.00 \$0.00 \$256.86
Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Zavala, Francisco Job Title	Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	25.69 25.69 ay Rate Hou	\$10.50 Total \$256.86 \$256.86 \$0.00 \$0.00 \$256.86 \$10.00 rs Total
Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Zavala, Francisco Job Title OC - General Manager	Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate	25.69 25.69 ay Rate Hou \$0.00 160.0	\$10.50 Total \$256.86 \$0.00 \$0.00 \$256.86 \$0.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$0.00
Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Zavala, Francisco Job Title OC - General Manager OC - General Manager - OT	Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pa	25.69 25.69 ay Rate Hou \$0.00 160.0 \$0.00 75.6 Total 235.6	\$10.50 Total \$256.86 \$255.86 \$0.00 \$256.86 \$10.00 \$256.86 \$10.00 \$256.86 \$10.00 \$250.80 \$0.00 \$0.00 \$0.00
Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Zavala, Francisco Job Title OC - General Manager OC - General Manager - OT Sales: \$10,097.99	Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pa Claime	25.69 25.69 ay Rate Hou \$0.00 160.0 \$0.00 75.6 Total 235.6 ed Tips	\$10.50 Total \$256.86 \$256.86 \$0.00 \$256.86 \$10.00 \$256.86 \$10.00 rs Total 00 \$0.00 \$0.00 \$0.00 \$0.00
Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Zavala, Francisco Job Title OC - General Manager OC - General Manager - OT	Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Pa Claim G	25.69 25.69 ay Rate Hou \$0.00 160.0 \$0.00 75.6 Total 235.6	\$10.50 Total \$256.86 \$255.86 \$0.00 \$256.86 \$10.00 \$256.86 \$10.00 \$256.86 \$10.00 \$250.80 \$0.00 \$0.00 \$0.00
Job Title OC - Cook Sales: \$0.00 Tips: \$0.00 Zavala, Francisco Job Title OC - General Manager OC - General Manager - OT Sales: \$10,097.99	Grand Total Avg Payrate Pay Rate \$10.00 Total Claimed Tips Gratuity Grand Total Avg Payrate Payrate Claim Gaad	25.69 25.69 25.69 25.69 25.69 25.69 200 25.60 235.6 235.6 235.6 235.6 235.6	\$10.50 Total \$256.86 \$256.86 \$0.00 \$256.86 \$10.00 \$256.86 \$10.00 \$256.86 \$10.00 \$0.00 \$256.86 \$10.00 \$256.86 \$10.00 \$0 \$0.00 \$256.86 \$0.00 \$0 \$0.00 \$0 \$0.00 \$0 \$0.00 \$0 \$0.00 \$0 \$0.00 \$0 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$10.00 \$0.000\$00\$0 \$0.000\$00\$00\$00\$00\$00\$00\$00\$00\$00\$00\$00\$

Job Code	<b>Total Hours</b>	<b>Regular Hours</b>	OT Hours	Total Pay	<b>Regular Pay</b>	OT Pay
Default Job Code	590.91	522.40	68.51	\$0.00	\$0.00	\$0.00
OC - Cook	1,522.99	1,310.18	212.82	\$16,869.70	\$13,575.68	\$3,294.02
OC - Server	656.03	656.03	0.00	\$1,410.47	\$1,410.47	\$0.00
OC - Cashier	270.68	270.68	0.00	\$2,706.84	\$2,706.84	\$0.00
Waitstaff Manager	271.64	271.64	0.00	\$1,358.20	\$1,358.20	\$0.00
OC - General Manager	235.60	160.00	75.60	\$0.00	\$0.00	\$0.00
TOTALS	3,547.86	3,190.93	356.93	\$22,345.21	\$19,051.19	\$3,294.02